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QUESTION 1

Click the exhibit. 

Which VPRN type produces the output shown on router R1? 

A. A full mesh VPRN 

B. A PE hub and spoke VPRN 

C. An extranet VPRN 

D. A CE hub and spoke VPRN 

Correct Answer: C 
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QUESTION 2

Click the exhibit. 

Which of the following commands produces the output for the inter-AS model B VPRN? 

A. ASBR1# show router 10 bgp routes vpn-ipv4 

B. ASBR1# show router bgp routes 

C. ASBR1# show router bgp routes vpn-ipv4 

D. ASBR1# show router route-table 

Correct Answer: C 

 

QUESTION 3
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Click the exhibit. 

For the inter-AS model B VPRN, which of the following protocols is used to advertise routes between PE1 and ASBR1? 

A. iBGP 

B. eBGP 

C. MP-iBGP 

D. MP-eBGP 

Correct Answer: C 

 

QUESTION 4

Click the exhibit. 
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Internet access using route leaking between the VRF and the global routing table is configured in the network. Which of
the following is the correct output of route 192.168.50.1 in the global routing table of PE3? 

A. A 

B. B 

C. C 

D. D 

Correct Answer: B 

 

QUESTION 5

Click the exhibit. 
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An Alcatel-Lucent 7750 SR is to be configured as a PE router that supports VPRNs using LDP as the transport protocol.
Which of the following best describes this configuration? 

A. This configuration is correct and complete. 

B. This configuration is correct, except that the system interface must be added. 

C. This configuration is correct, except that the interfaces facing the CE routers must be added. 

D. MPLS configuration is not required. 

Correct Answer: D 
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